Honors Algebra 3-4 /f’re,mlm/v;}
5.2 Worksheet

Prove that each equation is an identity.

1.

i
tanx - —— =tan’ x
cotx

cos’ xescxsecx = cot x

sinx . COSX _ CSCX
COSX Sinx  cosx

. 2 .
(sinx—cosx) =1-2sinxcosx

CSCX —SInXx = cotxcosy

Name

2. (1-cosx)(1+cosx)=sin’x

4, (l—cos2 x)(cotx) =sinxcosx

6. tanxcscxcosx =1

CSCX COosx

8. =tany

cosx sinx

10. cotx(tanxsinx +cos x)=cscx

Period



Il

13,

135,

7.

19.

S€CX —COosX

(1+sinx){1-sinx) = cos’ x

sinx  cosx

—_— =1

C3CX Secx

csc’ x
cot’ x

=1+tan’x

. .2
tan’ x —sin’ x =sin’ x tan® x

=tan’x
Cos x

12, cosx+sinxtanx =secxy

[+sinx _ cosx

14. = -
cosXx —sinx
sec’ x—1

16, ——— =sec’x
sin” x
1—sin®x )

18, ———————=sinx
cscx ~S8in x

20. sinx(cscx —sinx)=cos’ x



